| N of associated (recoToSim) looper tracks vs dxy |

[\ of associated (recoToSim) tracks vs dxy |

(ST

Sy b
< )

N of reco track vs dxy

s
o o
o

=1 —

30

track dxy (cm)
20
track dz (cm)

10

5 10 15 20 25

-20

|

05 =50-15-10 =5 0

°%55

| N of associated (recoToSim) looper tracks vs dz |

5

30

20
track dz (cm)

track dxy (cm)

10

25-20-15-10-5 0 5 10 15 20 2

5t

0.
30

track dxy (cm)
20
track dz (cm)

10

25-20-15-10-5 0 5 10 15 20 25

5

0.
] e

[N of associated (recoToSim) tracks vs dz_]

ORIG

30

20

*TT*EC‘KF owg\f&moom
track dz (cm)

M-Tt—cRErow|

M

track dxy (cm)

B8

5 10 15 20 25
10

0

-10

-20

0

957

0995 =50-15-10 =5 0
el

N of reco track vs dz



	Contents
	Page 1


